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ECONOMICS
( General )
( Introductory Macroeconomics )
Full Marks : 60

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
w1 fr erpTpEd T o

(a) Define Gross Domestic Product.
5 911 Beemad e o

(b) What is meant by average propensity to
save?

o 1o 2ol o R @me

(c) Mention one factor which affect the
propensity to consume.
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(d) Mention one motive behind the demand
for money. '
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(e) State Say’s law of markets.
( What is meant by multiplier?

(g) Define demand-pull inflation. .

2. Answer the following questlons :
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(a) State two difficulties in the measurement

(b)

(c)

(d
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of National Income.
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Distinguish between demand-pull
inflation and cost-push inflation.
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What is aggregate demand function? |
State its components. 1+l_
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Mention two factors that affect the |
inducement to invest. 1+1
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3. Answer any three of the following questions :
5x3=185
were fia e R e fofAtrm e fam
(a) Explain the differences between
autonomous investment and induced
investment. S

(b)

(c)

(@)
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Define the following :

Sore fRAPTEa vgen o

(i) Average Propensity to Consume
(APC) '

TS SO RIS

(#) Marginal Propensity to Consume
(MPC)
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Explain the effects of inflation on
production. 5
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Discuss the value-added approach in the
computation of National Income. 5

2+3=5
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(e)
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Mention the limitations of the classical
theory of interest. 5
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4. Answer any three of the following questions :
10X3=30 :
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(a) Explain the concepts of National Income,
Net National Product, Gross National
Product, Per Capita Income and :
Disposable Personal Income. 2+2+2+2+2=]0 -
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(b) Discuss the classical theory of
employment. 10 .
e sxmfre wadht wica 41 |

(c) What is meant by consumption function?
Explain Keynes’ psychological law of
consumption. 2+8=10
et T (e @ @R
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(d) Explain the different measures to control
Inflation. 10
TR Rz Rfdw Smerz T 311 |

fe) Discuss the Keynesian theory of interest. 10
TR o4 SGTB1 Sese 4 |

() What is the i-elation between multiplier
:’:lnd MPC? Explain the working of

Investment multiplier. 2+8=10
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